HIIFIEZR AR S)

SHINE WEI ENT CO., LTD.




WF-HR Z& %
WF-HR SERIES

Overview

® Type : WF42HR~WF142HR
® Backlash : <6-12 Arcmin

@ Ratio : 1/3~1/200

® Capacity : 0.05KW ~2.0KW

WF42HR ~WF142HR
R 1 <6-123%

:1/3~1/200

- 0.05KW ~ 2.0KW

SHine WE




s REESNIE—WF42HR - WF180HR

- KIGE//T2E
1. eREaSl RESEE MERE S
2. 1BiEE BN s S EHEE N BIRE - BRY
* Sun/Planetary Gear
1. High strength alloy steel, high
hardness of surface, anti-abrasion
and high impact.
2. Gear is Helical gear design, high
efficiency , lower noise and lower
vibration .

- IR R AR E TR A s
* Adjustable Helical Bevel Gear
Backlash structure.

- BMAEH

1. AL-6061-T6 , REIRBGBE R, = HE K, SFHEEEN

2. HAEH AR BEEARSEMLAXGER
BERIEOE

3. UREERENERSEESETERLES

« Input Flange

1. Material is AL-6061-T6 , Surface is Eloxal to improve
the antioxidant capacity and high quality.

2. Input flange is One-Piece design for sun gear and
servomotor shaft get excellent concentricity.

3. Use to any brand servomotor or step motor.

- BAKBENEER

AR B B P9 3w £5E R 7 1 2

F5HY5 |18, BEfE I A B8 i In A SR EERY
B0 E, BEEREE

* Input Flange and Inner Gear Box

The input flange using high precision
bearing to lead assembly, Let the input
to output shaft center has excellent
concentricity for reduce vibration.

- TEERILERRINREH,ME SHEE
* Use full arrange needle pin for anti-
abrasion and higher precision.

- IREARE R AR
.Ni-Cr-Mo &4 &
SR

3. EHERRE), R E M EFE

* Helical Bevel Gear component

1. Ni-Cr-Mo alloy steel

2. Carburizing Process

3. Stiffness and anti-abrasion.

<EYH

UAY AAZ 470 3B HE Fu, ok wojg 9
17 seje) oY 9 A O 2 ol F S
st doltd ak5 % Fats §F st

« Output Shaft

Shaft is One-Piece design, for ensure the
planetary gears could accurate

transmission. Enlarge the front bearing

and larger span to rear bearing for largest
radial and axial loading.

- Emp- i RAREN
B, PR IR ED.

* Non-Keyway assembly, have
excellent dynamic balance
and reduce vibration.

<3719
A% F7 AL, dejA7)e] Al ez Pk
ol vrkr o] st 23] 43,

* Inner Gear Box
High strength alloy steel. Gear is Helical gear
design for high-precision, high abrasion and
lower noise.

« AT he AR in B8 A B
1. BE S B EE, U ERAR A E®EN
EIRR5E
2. BERE T ERE
3. BEMEEEE
4. RAB(LRRET BEVUR O S S AR ZELEL
FEER
* Input Helical Bevel Gear and Input Shaft
1. With high precision bushing is easy
to set up with any brand servomotor.
2. Excellent dynamic balance
3. Optimum mass moment of inertia.

4. To modularize assembly design for
rapid reaction customers all gear
ratio requirement.

SHine WeE




= WF-HR Z251-1$8E

WF42HR | WF60HR | WFOOHR | WF115HR

141 36 139 238
12.0 38 146 300
14.0 36 146 300
141 34 135 288
11.9 34 132 281
12.9 33 124 254
10.8 31 112 250
11.9 34 132 281
12.9 33 124 254
10.8 31 112 250
EEHEHIE Ton (Nm) 14.1 36 139 238
14.0 36 146 300
141 34 139 238
11.9 34 132 281
12.9 38 146 300
10.8 36 146 300

- 34 135 288
1.9 34 132 281
12.9 38 124 254
100 10.8 36 112 250
120 - 34 135 288
140 - 34 132 281
160 - 33 124 254
200 - 31 112 250
SEAE  (Nm) 100 3 T

imes Nominal Output Torque

FEEHMAEZE Nin (rpm) 3~100 3,000 3,000

BARBAEZE (rpm) 3~100 6,000 6,000

3~10 = =6 =6
15~100 =8 =8

e o _ 3~10 =8 =8
HRELRR  (arcmin) 15~100 <10 <10

3~10 43 11
MM (Nm/arcmin) 15-100 26 6.5

BARHEEA Fae (N) 3~100 1,200 2,400

BABEE A F2aa (N) 3~100 600 1,200
fEAZER (hrs) 3~100 20,000
EREE (°C) 3~100 -10°C~+90°C

RS (arcmin)

Mg 3~100 A8 HAE Lithium Complex Synthetic
ZEGE 3~100 fEEJiH  Any Direction

EEE (dB(A) 3~100 < <64 | =66

L1 3~10 >94%
32 o,
RE (%) L2 | 15~100 =91%
L1 3~10 ) _ 12.3
E8 (kg) L2 | 15100 . 11.0/14.8
BrzE L1,L.2 | 3~100

B EE = (el S i AR (rpm ) /R e ki 2R

P HIRERAE 2% BEHRINHER TG

s AL ED/ShiE ) B, 2 A B R 100rpm, BLUE A AE s i P O B
DR, Ay

DR Ryfal i e A 3000rpm, A AR EE 1 OLL, S S 8K, BE RS 1M By T AT
L ARIARUG S S & IR CEE/ 4R B

Sune Wel




= WF-HR 5l

I
WF42HR frl it/ 5 3 K32 1Y
WE60HR Jg R - U AR BR
WF90HR AR o QB

WF115HR HISLH ©

BN T i
L1(— ) K Y , FE

FREER Kk hmEas)

B W . e
- B L B LI

WF42HR 34,5,6,7,8,10,14,16,20 15,25,30,35,40,50,70,80,100

WEF60HR 3,4,5,6,7,8,10,14,16,20 15,25,30,35,40,50,60,70,80,100,120,140,160,200

WF90HR 3,4,5,6,7,8,10,14,16,20 15,25,30,35,40,50,60,70,80,100,120,140,160,200

WEF115HR 3,4,5,6,7,8,10,14,16,20 15,25,30,35,40,50,60,70,80,100,120,140,160,200

Sune WE




= WF-HR IRieegs RIINE R~TE,/ 3« L1

2A8

B10

B6

B7 B8

[Yo]
<

PCDoA1
4—0A2

(E8{37:mm)

WF42HR

WF60HR

WF90HR

WF115HR

A1

50

70

100

130

A2

3.5

5.5

6.8

8.6

A3

35

50

80

110

A4

13

16

22

32

A5

15

18

24.5

35

A6

5

5

6

10

A7

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

A8

56

80

116

152

B1

42

60

90

115

B2

15

20

30

40

B3

2

3

3

5

B4

25.5

34.5

51.5

66

B5

1

1.5

1.5

2

B6

5.5

7

10

12

B7

4

6

8

10

B8

22.5

33

39

47

B9

44

62

90

115

B10

96

135.5

188.5

240

B11

77

103.5

145

185

C1

46

70

90

145

C2

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

C3

8

14

19

24

C4

26

31

43.5

67

C5

30

50

70

110

C6

17

21

34

18

C7

42

60

90

120

C8

4

5.5

7

22

1.BO~C5RRENERERRT  ERRISAFBERRTRAMEE, ANBECRMMRFIS1H

2B Rt ERMERARSETAMANE, MFFANERTHEBERAT

Sune Wel




= WF-HR IZiEss RIIANE R~FE,/F+< L2

oA4

PCDeA1

B10

B6

B2

E

PCDaC1

4-5C2 (BEfsz:mm)

WF42HR

WF60HR

WF90HR

WF115HR

A1l

50

70

100

130

A2

3.5

5.5

6.8

8.6

A3

35

50

80

110

A4

13

16

22

32

A5

15

18

24.5

35

A6

5

5

6

10

A7

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

A8

56

80

116

152

B1

42

60

90

115

B2

15

20

30

40

B3

2

3

3

5

B4

25.5

34.5

51.5

66

B5

1

1.5

1.5

2

B6

5.5

7

10

12

B7

4

6

8

10

B8

39.5

55.5

70.5

83.5

B9

44

62

90

115

B10

113

158

220

277

B11

77

103.5

145

185

C1

46

70

90

145

C2

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

C3

8

14

19

24

C4

26

31

43.5

67

C5

30

50

70

110

C6

17

21

34

18

C7

42

60

90

120

C8

4

5.5

7

22

1.BO~C5RRENERERMRT ERRISABERRTRAMEE, ANWBECRMMRFIS1E

2 BN Rt ERMERARSETAMANE, MFFANERTHEBELAT

Sune Wel




LT R

¥ + +4 4
L -

e
-¢_+.|-|.~

-k
*

Ed

Ll
bbb
e
e Ll AL
SRR
e [
Bas
&#
-
o
= 22
i
i

A

4 e

W,




